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7 100kN/ Mm% Z % — - ~ — —|3mZEBZB| — ~ — — — | 100kN/m%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 566 70.66 | #nst | 000 ~ 0.00| 1.65 8.83 zhLst 1.00 | 6.00 ~ 6.40 70.66 | EnLS | .00 ~ 640 1.65 883
2 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 7.00 8877 | #FhAs | 000 ~ 700\ 1.82 9.756 zhLst 1.00 | .00 ~ 879 8877 | #nS | 5.00 ~ 879 | 1.82 9.75
3 100kN/m##8%% | 1.00 | 000 ~ 0.07| 101.01 |3mE#BZ%| — ~ — — — | 100kN/m%#82% | 1.00 | 1060 ~ 1079 101.01 |3m%E#BZ% - ~ — — —
zhLst 1.00 007 ~ 78| 100.00| This | 000 ~ 7.85) 213 11.39 zhLst 1.00 | 56,00 ~ 1060 100.00| FnLS | 5,00 ~ 1079 2.13 11.39
p 100kN/mM%E#BZ 5 — - ~ — —|3mZEBZB| — ~ — — — | 100kN/mM%#8% % — - ~ — —|3m%iBZ % - ~ — — —
zhLst 1.00 | 000 ~ 683 86.39 | #hst | 000 ~ 0.00| 1.66 8.88 Fhst 100|500 ~ 859 86.39 | Fhst | 500 ~ 8569 1.66 888
5 100kN/m##8%z% | 1.00 | 000 ~ 029 104.26 |3m%xBz%| — ~ — — — | 100kN/mM%#82% | 1.00 | 1247 ~ 1369 104.26 |3m%E#BZ% - ~ — — —
zhLst 1.001029 ~ 807| 100.00| Fhis | 000 ~ 807 1.94 10.38 zhLst 1.00 ] 56.00 ~ 1247 100.00 | FnSt | 5,00 ~ 13.69| 1.94 10.38
P 100kN/m%#8%z% | 1.00 | 000 ~ 208 13229 |3m&xBz%| — ~ — — — | 100kN/m%i#82% | 1.00 | 10.83 ~ 20.51 132.29 |3mZE#BAD - ~ — — —
zhLst 1.00| 208 ~ 987 100.00| FhLs | 000 ~ 987|257 13.75 zhLst 1.00 ] 500 ~ 1083 100.00 | =nst | 6,00 ~ 2051 2.67 13.756
- 100kN/m##8%z% | 1.00 | 000 ~ 1.22| 11836 |3mEBz%| — ~ — — — | 100kN/mM%#82% | 1.00 | 10.72 ~ 1494 11836 |3m%E#BZ% - ~ — — —
Thilst 1.00 | 122 ~ 9.00 100.00 | #nLlst | 000 ~ 9.00) 210 11.21 FhLst 1.00 | 6.00 ~ 1072 100.00 | TnS | 6.00 ~ 1494| 2.10 11.21
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhst ~ zhst ~ zhs ~ Zzhusn ~
100kN/mMZ#2Z % ~ ImEBRD ~ 100kN/ MZ#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zhusn ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/M%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Ths ~ Ths ~ Ths ~ Zh s ~
100kN/mM%#8Z % ~ ImEBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
Thst ~ Thst ~ ZThst ~ Zh s ~




